N = 0l & AF & F Al A

2N s2IlER Je23D
=R RSP

ol AlZFRIZ MAD|EE X (B9 &2
_ _ _ Muo
N Z3 . CA(ZAH) - MPAY - BES e Ofl At ot Hlws2
2 =22 9,847,509 8,895,401 952,108
=2 3,641,552
3 2,881,000
2 600,000
= 2,724,957
S| EUMAAS (SYHS S /5 - 5E) 9,800,672 8,851,746 948,926
= 3,641,552
3 2,881,000
& 600,000
= 2,678, 120
AYES MAD|E K| 2,403,900 1,963,240 440,660
= 1,508,900
= 895,000
SHIIBERTHII S LM AYRLIIS(MIIE2S 450,000 350,000 100,000
o)
= 450,000
403 TR SRS XH2 0| & 450,000 350,000 100,000
= 450,000
01 XXl SHH K2 B & 450,000 350,000 100,000
OIlSEIRERTHIIS L MM =22 450,000
= 450,000
SMOIE 3 oM 3l 539,000 454,000 85,000
403 TR RIS XH2 0| & 539,000 454,000 85,000
01 XX SHH K2 2 & 539,000 454,000 85,000
BEEISIERPNPONE
100,000,000 *37} 2 x30/ 100 90,000
(]2 A4 2 B T B D S Al
300,000, 0002 *37H 4 x24/100 216,000
OGRS A HMASPIBAPE HI| 2 Al
500,000, 000! *17H 4 *16/100 80,000
JDENENNELEA
10,000, 0002 * 1274 4 *30/ 100 36,000
OR=FIAAsAIS23
20,000,0002 * 1574 A x24/100 72,000
OHDEL M MAAIY
50,000,000 <37 2 %30/ 100 45,000
DEIRDMUKE) S (M2 SAY) 150,000 100,000 50,000
= 150,000
403 THXI SIS X2 0| & 150,000 100,000 50,000
=2 150,000
01 XHXI EHHI K2 2 & 150,000 100,000 50,000
(JDBRIIMMRE)E 150,000
= 150,000
URSAMA DS (AISEDALY) 80,000 140,000 A60,000
= 80,000




SN 5YUIIER JEE22D
M Soi)| sy
SRl AZXS MAD|E X

_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2
403 KX EHH S K20 & 80,000 140,000 160,000
= 80,000
01 XHXISHAIXHE 2 X 80,000 140,000 160,000
BEEE=EE R InblES 80,000
= 80,000
RS ASH 196,000 96,000 100,000
403 KX EHH S K20 & 196,000 96,000 100,000
01 XFXISHRIXHZ 2 & 196,000 96,000 100,000
OYYS S EAC A
100,000,000 *27H 4 *30/ 100 60,000
SES L+ ASHAIY
30,000, 0002 *47H %30/ 100 36,000
BEEDCCEE-EEY NS EIE SN
00,000,000 *17H 4 %20/100 100,000
AEARISASHLI| S (NI ESBA) 200,000 200,000 0
=2 200,000
403 KX M S K20 & 200,000 200,000 0
= 200,000
01 XHXI SRRt 2 2 & 200,000 200,000 0
ORSZRINsMSHAI| 200,000
= 200,000
REEEER 64,500 24,000 40,500
403 KX M S K20 & 64,500 24,000 40,500
01 XFXISHRIXHZ 2 & 64,500 24,000 40,500
O2LBOISBAANLRIIS AL
4,000, 0002 * 1074 +30/100 12,000
OMEHaES0S TS LN Z 22l Al
25,000, 000! *5JH %30/ 100 37,500
OS82 AT X
10,000, 000! *57H 4:%30/100 15,000
DY 2Y (WSS SHBISX) 447,000 350,260 9,740
= 422,000
= 25,000
101 01214 16,000 0 16,000
= 8,000
= 8,000
04 JI2HZR2 IS S S 16,000 0 16,000
OsXegHsnz =y 6,000
= 8,000
= 8,000
201 L2 Y| 10,000 3,020 6,980
= 5,000
= 5,000
01 ALR 2l 10,000 3,020 6,980
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BERESET 10,000
SELEInE =TS 10,000
= 5,000
< 5,000

202 01| 11,000 9,500 1,500
= 5,500
= 5,500

01 2LH0iHI 11,000 9,500 1,500
BEREYESCE] 11,000
= 5,500
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OMal 10,000
OHHEHUELRSHERL 10,000
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= 1,500
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BELECESEEete] 3,000
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= 1,500

HHESHAI SN (B Y=Y SN ) 215,000 171,140 43,860
= 206,900
= 8,100

101 Q1214 8,700 9,300 £600
= 4,350
= 4,350

04 JIAHIRUSES 8,700 9,300 A600
BEREESEE=-TIE 8,700
= 4,350
< 4,350

201 et | 7,500 4,980 2,520
= 3,750
= 3,750

01 AtR 22t 7,500 4,980 2,520
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SN sz )23
BE: SIS YAYSH(SYHY /5 - 5&)

e 4SS ADISEI (ctel e
B . M. CHe (5 NEAY . B2 Al OH HEE Hl =2+
& 3,500
301 LEE A= 10,000 7,000 3,000
= 5,000
= 5,000
10 HALAHIE A= 10,000 7,000 3,000
O848 s34 10,000
= 5,000
& 5,000
Wh==MHYXN A EES 1,261,920 1,206,000 55,920
= 600,000
& 661,920
403 XIS 201 A 1,261,920 1,206,000 55,920
= 600,000
= 661,920
01 tXISNH X2 E X 1,261,920 1,206,000 55,920
OZ=2ESUhaMMHISH
40,000,000 *8IH £ *30/100 96,000
CIX2l8I Dt of 3F R BH Al
30,000, 000& *3JH 2~ *24/100 21,600
ot XHF SIS RIAIE
12,000, 000:& 20l 2~ *24/100 57,600
O RA XA 2HE N A
40,000,000 *7H & *24/100 67,200
OUASsSEEEIAY
10,000,000 * 107K 2~ *24/100 24,000
Ont==RuZESHS LA
10,000,000 *8IH A *30/100 24,000
DDI=ASE=Ss0IESTEHUEZSAIY
8,0002 +6,0003=+24/100 11,520
&2+ 3 X =T ol 2 XAl H
10,000, 000& *20J4 2~ *30/100 60,000
OX S S3AI (012) 900,000,000& 900,000
= 600,000
& 300,000
SAUHUXZEZI2AIE(AII223ArY) 95,000 210,000 A 115,000
= 95,000
403 KX SHHIS AH=0[ & 95,000 210,000 A 115,000
= 95,000
01 AXI SN A=22 X 95,000 210,000 A 115,000
OsSHUXIZEZII=AE 95,000
= 95,000
A0S MHAGELI=(MI=E2S M) 270,000 291,000 A21,000
= 270,000
403 M XIESH S 201 A 270,000 291,000 A21,000
= 270,000
01 AXISHXA=2E X 270,000 291,000 A21,000




M s8lIsd Jl=sE22
R EH ~—o43|A:4xua:a U5 (SR ULA /=Y - =E)

=

29l £SRS ADISES (e @
SA BB .S (BH) - MBEAY - B2 Of) & 04 gggf; SmE=L
O MAHIELD = 270,000
= 270,000
SEHJHESA)|=NII=E=AMY) 100,000 165,000 A 65,000
= 100,000
403 MRS S K20 100,000 165,000 65,000
= 100,000
01 XM A28 X 100,000 165,000 65,000
O3 8SESMI|= 100,000
= 100,000
SgEtANEIIs(MII=ESAY) 180,000 295,000 A 115,000
= 180,000
403 XXISHHSAH20| A 180,000 295,000 A 115,000
= 180,000
01 AXHHMANE2E X 180,000 295,000 A 115,000
Osgetdieddls 180,000
= 180,000
THAMEIE DS EOLA M AL 408,600 409,000 A400
403 XIXISHHSA20| A 408,600 409,000 A400
01 AEXIEHMIA 282 X 408,600 409,000 AN400
CIOIADIZHSAIE I S OHE M AL
13,000,000 *8JH 2~ *30/ 100 31,200
OAMEMtItCEecsSIlEeegEl)IsEs
30,000,000 x5JH 2 %30/ 100 45,000
A0 Z2EH0IME0ISAIE
20,000,000 *202H 2~ %30/ 100 120,000
(S SOIRARHNH X EZII XA
50,000,000 «50H A %24/100 60,000
OJEAdYHlls DL AESHAIY
20,000,000 «50H 2 %30/ 100 30,000
(S SoIRASZSHUUHEWNHRNEZZAIEH
20,000,000 * 1020 2 %24/100 48,000
(D=L ESEUESANEY
300 *300,0003=*24/100 21,600
COMAS DX S IHATHBHAIE
25,000,000 «30H A %24/100 18,000
(A SESL D[ LHTHBHAIEH
30,000,000 *3JH 2 %30/ 100 27,000
RS2 DEEE S FMAAE
13,000,000 *2JH A~ %30/ 100 7,800
SESESXNYESIIIsAE (MII=sESAY) 295,000 100,000 195,000
= 295,000
403 XIXISHHS K20 H 295,000 100,000 195,000
= 295,000
01 AXEHAE2EX 295,000 100,000 195,000
OS3ES=SIEII=AIE 295,000
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BE: SIS YAYSH(SYHY /5 - 5&)

oG ASES MII=E3 (¢t &
SH-EH . O3 - MBAY - BAS 0l &b o Soe HRZ2
| =2 295,000
NEZEZSHSMA 128,400 162,000 33,600
403 XXM S K20 ™ 128,400 162,000 A\ 33,600
01 MIXIEH A2 E X 128,400 162,000 A 33,600
OMESEMAIEZZTHEIAI S
5,000,000 *202H 2~ %30/ 100 30,000
AFTHEH DI Al EH
50,000,000 «2JH A %30/ 100 30,000
CIH A BRI M Z= D1 HI SHAI -
60,000, 000 44 A *24/100 57,600
OB A BRIl LA KT & 2HAI S
15,000, 000& *39H 2= %24/100 10,800
J=E2AY) 75,000 170,000 95,000
= 75,000
403 XtXISHMS K201 A 75,000 170,000 95,000
= 75,000
01 MIXIEH A2 E X 75,000 170,000 95,000
CIMAH| E 2D EAL D= 75,000
= 75,000
EMSEZSA)|=(NII=ESAY) 200,000 175,000 25,000
= 200,000
403 AIXISH M S K201 A 200,000 175,000 25,000
= 200,000
01 AMXIEMAZ2E X 200,000 175,000 25,000
OSMSSESAI| = 200,000
= 200,000
NEASSHENAI s (MII=E2AHY) 75,000 180,000 A 105,000
= 75,000
403 XX S S K20 75,000 180,000 105,000
= 75,000
01 AEXIEHHI A2 2 & 75,000 180,000 105,000
OIS AISEENEI = 75,000
= 75,000
O SHAZSMAI =AY 100,000 100,000 0
= 100,000
403 XXM S K201 A 100,000 100,000 0
= 100,000
01 MIXIEH A2 E X 100,000 100,000 0
CJOHE = A2 M A AN S HHACCPE 2 Al Y 100,000
= 100,000
IIEAMFHEI = 300,600 228,000 72,600
403 XX SHH S XH= 0| & 300,600 228,000 72,600
01 AIXIEMAZ2E X 300,600 228,000 72,600




2N s8lI=d Jl=sEs
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5l ASHEHS MII=ES (98
SA - HB B9 (E) - NRAY - Ba S 0f et o e DS
LII=EadF NS LA =2
50,000,000 *8JH 2 %24/100 96,000
OStRASSENLNSSHAAEES
30,000,000 «3JH 2 %24/100 21,600
L0 M SOl ESAAHMZAIE
10,000, 000:& *5JH 230/ 100 15,000
REEEVEIVERIN -
50,000,000 =51 2 %24/100 60,000
OSASANSHRESASAA M
50,000,000 *3JH 2 %24/100 36,000
EpEEE ISR
0,000, 000 *10JH 2 %24/100 72,000
OOILIEIZ2EII=(MIIEESAY) 60,000 50,000 10,000
=2 35,000
< 25,000
201 2egr2g 42,000 37,000 5,000
= 21,000
= 21,000
01 AR 2telH] 7,000 0 7,000
Oget =2l 7,000
QUEANIHAENZRAUS 7,000
= 3,500
= 3,500
03 HAH2 & H] 35,000 37,000 /2,000
O 02H AEH 35,000
= 17,500
< 17,500
301 det2a=S 8,000 8,000 0
= 4,000
= 4,000
10 HALAHI24 = 5,000 5,000 0
OMSRANIHAESANSAS 5,000
= 2,500
s 2,500
2IJIEt2d= 3,000 3,000 0
OHERANIHAELATAIES 3,000
= 1,500
== 1,500
308 XXM SO0I S 10,000 0 10,000
= 10,000
01 AXEHHESEXS 10,000 0 10,000
Ox=SstuddegsegdatAg 10,000
= 10,000
HERAWII=ES 35,000 31,500 3,500
201 dEt=2 S| 20,000 18,000 2,000
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22
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B
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03 #AtZ S 20,000 18,000 2,000
922 8l 0H 51 = 2 20,000
308 XA M SO0IE 15,000 13,500 1,500
01 IXESHBLLEES 15,000 13,500 1,500
O=MS LM DS
5,000,000& *107H 2= +30/100 15,000
atEl== MK =S 126,000 96,000 30,000
403 TtXIHMSA=01H 126,000 96,000 30,000
01 XM= L2 126,000 96,000 30,000
REEIEPEE PSS )=
100,000,000 #2794 £ *24/100 48,000
mEE =Rk S lEN
40,000, 000 *3IH A~ *24/100 28,800
OL2ABASKASAY
20,000, 0002 *57H 2 %30/ 100 30,000
OESSLUESHSIISS
20,000, 000 *4JH 2= +24/100 19,200
ASHIIIsES 25,500 26,440 A 940
201 e G| 10,700 10,500 200
01 At 22l 10,700 8,700 2,000
mEEIER=3] 5,000
OJdl=XNEERrsS 5,000
Degs+d 1,500
OZA+EE 1,500
U=l 2,000
OgsaaasSana 2,000
O x= 2,200
O BIlol & 5| S X2l X} 2,200
202 04l 11,000 11,140 2140
01 2O 11,000 11,140 A140
OAS=HSIIE2S 0] 11,000
206 M =4 1,000 2,000 21,000
01 M=l 1,000 2,000 21,000
OgZMNESASERALIAR 1,000
301 et a3 2,800 2,800 0
10 dAtAHI 24 =S 2,800 2,800 0
OESZAM &S A 1,400
OASHSAAEIIA &5 SA 1,400
sI=dEENE 18,600 18,600 0
201 Yute | 14,500 14,500 0
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M s8lIsd Jl=sE22
HE: =0 )| SHMAUS (SANUYLA /=Y - ==)

Col ASHE NIIEES N - (el & Q)
_ _ _ Muo
SN -3H - S2A(2AH) - NRAY - BE= Ofl &4 Ofl At ot HusZ
< 3,250
01 M EH 6.500 0 6,500
OANSEZIWE LS 6,500
= 3,250
= 3,250
BHSYAFH (YIS JSESW)OIEHIIE) 46,837 43,655 3,182
ol ol 42,937 37,805 5,132
olzt eyl 42,937 37,805 5,132
101 124t 42,937 37,805 5,132
03 RI|AHA 22X 4 42,937 37,805 5,132
OARE X 42,937
OPIE= 40,8302 %22 x2522 20,579
04012 6,859
Oxg+Y 40,8302 +22 x5 4,247
O R+ g 40,8302 +22 16 1,307
Osgze+y 40,8309 *1.5+22 xg2 980
OAlZteI2R2g
40,8302 *1/8+1. 5528 »4 Al 236 2,205
OEF | 1,600
OnEL =] 60,0002 *22 128 1,440
OF U ZAlH| 130,000 x2% * 128 3,120
OYEZIH| 150,000 *2% 23| 600
ol =2 3,900 5,850 A 1,950
1| 3,900 5,850 A 1,950
405 XHoHE S| 3,900 5,850 A 1,950
01 AL SEF S| 3,900 5,850 A 1,950
CIPC(2CH) 2,900
12/ X4 (57H) 1,000
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